Assignment #3 Math 260 Name:

1. Evaluate the determinant of the following matrices:

-2 -4 1
a) A= 6 1 1
-2 -1 3

-2 -1 4 -6

b) B 0O 1 0 2

0 6 3 2

0 8 5 1



sin 2¢ cos2t 1
d) D=|2cos2t -2sin2t 0
—4sint —-4cos2t O



Using determinant to find equation of a line passing thru ( 2, —3) and (—2,5)

Using determinant to find constant k so that the following system has a non-trivial solution:
10x+ky—2z=0
kx+y—-z=0
2x+y—-3z=0



4.

Find constant A so that following matrices are singular.

2-J -6
2) 3 4-4

2-4 -1 3
b) 3 1-4 0



Solve the following by using Cramer’s rule:
4x, +4x, +4x, =5
4x, —2x, +3x; =1
8x,+2x,—4x, =6



